ERSAROREERT —I X—RIBIST—F 2022828258 (&) 12001584058
M S%3% £ 23758 4F5k% B
[AXE%]) 1 %:1,200,000  ~ 23&:420,000 337%&:240,000H . 43#&:180,000 M 5 & :120,000 /9

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1171713 yrFaATY 4 3 E‘é’_fgiﬁﬁi 1:(3_4).2 1-1-1-1 [ 40.4| - 1 (4:37) g%%; (A0

R:ANTT—II B:SVEFSS BiE &
S 4 3 | BEAER 1:34.3 2-2-2-2 | 40.4| - 3 481 | EH—AI GAFD)

21819 Phohyads 54.0 (71) (+5) | PEEER—EB

RiYyhLO B:TFIFSAY xE E
3 | HEER 1:35.1 6-6-3-3 | 40.7| - 6 441 | TEfeedE CR3F0)
3178|779 " 56.0 @ ) |FU—Toyk @
R:DVI=FPF+a—k B:NZ—L—F— S| Es
4111 H=7— i 3 gévs%%mﬂﬁ (1;35.1) 8-9-8-4 |39.9| - 2 423 ng#lnlﬁ GraAD)
— . I 2l
RTAYYTSyya BRUF—ZIVIER ’ RRIN St
sEY 3 | 7OV IFI— 3 ZREA 13 5567 [407| — |5 | 46 | NEER CRAD)
RiboPO—)LR B:IFI-TI— -2 S5 ER
6 6l AT YR 4% 3 g%%?ﬁ{: 1:(325).8 3-4-5-6 | 41.3| — 10 (:1?2) g;ﬁ;g ;%(ﬁiru)
RiFVEYR B:IU—BISVR BsN77—L4
715! 5 FUZRIHT 4R 4 3 gg(a)%um 1:35.8 4-3-4-5 | 41.4| — 4 468 ?;D% (FFD)
(7E) w0 |PEET
R:O—=IRAVXA B:F3DIILVII R 77—LA
~ ) =~ t 3 | @HEX 1:37.3 10-10-10-10| 41.6 | — 7 452 | IVHESE AR
818110 NUYZvY £ 54.0 @) ) | ImEE
R:AR—KrZ7)VOY B:EUYwvI KIFEBHUS
9 4| POV RDTUSF 4 3 5%4%*&9& 1(:13/72.)4 7-8-9-9 |42.2| - 8 (4_3;) mﬁﬁm Gearl)
RYVYRNIRILT—/ BYYYREZA RIS
10 ) | P TIRI—ILR 4% 3 ;éz%%ﬁ] 1(:13/72.)5 9-7-7-8 | 42.6| — 9 :1:(3 %&(g)—ﬁ% (GraAD)
RFAUAYRA NUA W b B:FF= ) IHA 1—1—Hiug

@ 11— —BERIEI
13—7F— 7,9,6,5,3,8,4,1,2,10
20— — 7,9,5,6,3,8,2,4,1,10
33—73— |7,9.8,5,6,3,2,1,4,10
43—7+— |[7,9,8,1,5,6,3,2,4,10

0 ILRE
BB 7 140 JA R 7-9 240/ & 7-8 360 3ER 7-8-9 1,500/
B B 7 120H 7-8 5804 (=] 7-8 520 3Es 7-9-8 4,170

9 2004 8-9 1,040 B E 7-9 460M
8 520 Ba 7-9 610
ABCDOVTIRHTERERRODDZ, THERAILZETL




